AP CHEPRY ERY 106867 F 2 FHAXIEFE(FER)

T 2834 =%
ESicdl XY i T 224 4 =%
2 5074 =
106-% 62 > J F14 5 (A X )(F7#)
£ B (1) B FR AT R w3t :
= £ 90 A/ A 7R lL#EBBAZT LB
~EZ 90 A/ A 7R 2.8 T IRAFEH R o
1 &5 37 A/ A 7R . EE W A A -
R 217 W3L LB A/E AR ED FIR R PR3, R TR
[{-d ER g ] 106#6% £2106#£6% #Hif v (A x)F7i) ¥t
" %|Gender P&’ Time S ,i;‘l‘:LVenues ‘of the incidence of student injury 1. d\%‘fﬁ L BEG I 224K o ARE R S oo
o ba|e & | x| FF é;ék%ﬁiﬁhzﬁ A | e (B oalEse [ g | ket | 2o |20 HERKFRFOCOAT 0 FEE Y LH A6 X ARG
£2+1 3 |- # = = o BI04 = W P 1LA & e
105# 6* 241 | 174 | 67 | 77 | 47 | 117 | 46 0 7 | 15 | 25 | 16 | 14 | 16 4 5 22
106+ 6" 219 1 149 ] 70 | 76 | 50 | 93 | 50 0 73 | 17 | 15 5 11 | 22 0 8 18
[fot - @5 v dk] 106&5% £2106&6% i v (X X)(FTH)
e %] Gender P Time +» BLVenues of the incidence of student injury it
A P D P T R T e R R B e e B e I R e T PUES R P A P
23 # “ 2. M FBFRF AT o FHFEFR I FRY
106 5% 372 | 222 | 150 | 140 | 82 [ 150 | 105 ( 0 82 | 36 | 21 | 10 | 17 | 71 5 6 19 R 494 = .
106-# 6 ” 219 1 149 70 | 76 | 50 | 93 | 50 0 73 | 17 | 15 5 11 | 22 0 8 18




